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CLICKER QUESTION

Uniformly two-color edges of Kn. How many
monochromatic subgraphs Ka should you expect to
get?

a) (2)2-G)
(B) 2(2)2(2)
© () 2-G)
(D) n22-(3)

(E) None of the above
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STIRLING’S APPROXIMATION

log(n!) vs log((n/e)")
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UNBALANCING LIGHTS

y1 y2 ys y4 ys Yo y7 ys yo
X1 +1 -1 +1 | +1 | +1 -1 +1 | +1 -1
X2 -1 +1 | +1 -1 +1 | +1 | +1 -1 -1
X3 +1 -1 -1 -1 -1 -1 -1 -1 -1
X4 -1 -1 +1 | +1 -1 +1 | +1 -1 -1
X5 -1 -1 -1 | +1 | +1 | -1 -1 -1 -1
X6 -1 -1 -1 -1 +1 ( +1 | +1 | +1 -1
X7 +1 | +1 | +1 | +1 -1 -1 -1 -1 -1
X8 -1 +1 | +1 | +1 | +1 -1 +1 | +1 -1
Xo +1 | +1 -1 +1 -1 +1 | +1 | +1 | +1
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UNBALANCING LIGHTS
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CLICKER QUESTION

Flip a fair coin n times. What is Pr[#heads = n/2]?

(A) v (2/TT)(1+0(1))

(B) vV (2T1/n)(1+0(1))
(C) 2"V (2/TIn)

(D) V(2/TIn)(1+0(1))
(E) None of the above
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BINOMIAL DISTRIBUTION



BINOMIAL DISTRIBUTION
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